
Mr Trask is playing a mean trick on his students. He stands on Branco's balcony 

which is 3.5 m above the ground. He then throws a water balloon straight 

upwards at 6.0 m/s. The balloon goes up then all the way down to burst on the 

ground below. 

a. How much time does it take to hit the ground?

b. How fast is it traveling when it hits the ground?

c. If Mr Trask threw a second balloon straight downwards at 6.0 m/s would it hit 

the ground traveling faster, slower or the same speed as the first balloon?




